Home work Week 4 Algebra part 2
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What is the domain of the function shown above?
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All natural numbers
All whole numbers
All integers

All real numbers
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What is the apparent range of the function of 1 shown?
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The set of all real numbers greater than or equal to 1
The set of all real numbers less than or equal to 1
The set of all real numbers greater than or equal to 4

The set of all real numbers




image1.png
Given the graph of the line represented by the equation
flx) = —=2x + b, if b is increased by 4 units, the graph of the new
line would be shifted 4 units

(1) right (3) left
(2) up (4) down
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Which graph represents the solution of y < x + 3 and y > —2x — 2?
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The zeros of the function f(x) = 32% = 3x — 6 are
(1) ~land -2 (3) land2
(2) 1and -2 (4) ~land2
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